o
He
= e O
w30 = = ol &
2 o) I 2
I u - =i
= %__. .Jn_.u o0 mll_. _w___ ~ ra)| uAlN
1 - WS T = R =) gle
I H 4 © I o R o —~ = ol S <
__ U ] = > I o « 3 T = K0 &
° 5 35 RU R0 I
I R - D ST SR s 5 . o _
o p i g o W o 5| o ® |
I = m_m 0] <J i X0 = " wo WX = ?
I ~ ¢+ o W 5 & ® Ul el S al s N
I 3] Al T X ol K X0 70 U
Il T - o] 0. ~ ) _.._H_ < Dl_ - <
i =~ = o1 W gy + <o M N ] =
! e Ul <0 ok yr — N T ol o s S
I G T ST Tl ok nl = g S < 1o
I X 1 I il Ry = ~
=+ — U = X0 =
I ol 52 x - S = ~ o = = —~
< Il n 7] — ™ = = Rk o =._== ol 20 _._._._ =
1 J 4 2 D RO s & 7 1 0l 0 o7 2 -
W = X Ma i R mw ™ 2 = >
i Coor A = 5 =7 =Ty = o & nJ il D
D BT — o~ Ne) . =
L o s Oz = 1o Sa R L no|P z
< w = = = S we s RD o3 KW o
= = I Rl 2 -~ o = G4 o
i oo oA il aldn 0 5 5
Kl ) 1 . —~ —_ e ° o o
ok | o f o $ Y s T T r R R w 30 =
__ of . Fn% < = =) + m ol ol &+ <F %) mo K A1 4
H S O RO W - =7+ L A < W o - 3
I o ~ W O = I3 o Mm s S = e
g __ ) . X T o (:\ © I+ o ol S x 0 0 a1
= | N m Yo gy g © t o =n J N s S J . &
PR ol o3 6= + =+ = S _ 3 Q = H = a0
I wnﬂl S RS KDz 0 =+ o IO = = N S 0O o .
__A== 1 =2 K o xaMﬁ%r [N S MDO,{ C o M_MJU
i TS 5L < ¥ < ®om iy @ R |2 =
! — O K . - [ + ~ 4+ o () — = 30 R
! ol o SCTS - L X Tl 3 = 0 5 q
I UF my Ol =~ ™ | + - JURE S o = = 0 ~ |
oJ M. 0 o> 0 =2 1 = = =) "
Il L.D == O_ 5D — Naa < g O_E = — — .. A
Il M m _ - r o 4+ = 4 KD . L.H_ — (V] O_ M
__ ._I_._ = 4 mvr, ol 10 U [ %0 > __Iou .._| or . ,._| zr =l
i HW|¢ Y SN DR =3 d o
_" “WE? N = = =~ & mMWLAm T
__HATiADTm awma. = = 3 m o= 0 0
I = o 4 A ok = T m
i = o J KK X
BT o
I




e

1.

Kl

]

r
[
00
I[d

Ju
0%

ol

o)
i
IH

o0

DHEO0A LHEFLE

Al
(=]

D

Z MIOICt.

st

CH
= = HMIOICH.

Ol

H

-

oll
o|_=_

Ol 2totod

Ml
=]

H & 0if A

10

H 1-2]=

]
[

[

b
=

= = MIOICH.

EE
ol &
=
X g
1S

(2/3)



[EX 2]

Z 0IF0A AT 2 A

=
=

Al

ol

-

)

’r
ior

&

Uk

Al

~
0[0

s 9H pn)ol 2

A== nOll O

o
[all

I
e

n=k+12 OIS ZH p(n)ol

otH,

o)

nul
X0

+=Z°o AHgH AU X

o

=
=2

£
19}
g0
M_=

ol
i)l

1
0

o Z0IJt 2a, @52 ZO0[JF 2bQl EtES

FAIL.

=
=

=t
RIAl

(2H 2-1)

a2H

[¢]

=
=

EH’

solct &

EFI Q)

2010t 2(n+1), ©=2 2017t 2n¢

=9

(2 2-2) 4,2 =

n

S, =Y 4,9 2

to 2 gtol

o

2 =

1

k=

ot &Y

FAIL.

[¢]

Rr

Ol d8lote AHAOICH O MM =5t

(22X 2-3) X

FO{ OfcHel 1

=1}

At

ol

FH m+n=n-+mOlC

¢

KA m,n0ll CH

EN2 T

1.

Al O
A g

g2 Oloff E&2 Jl= X

N

=

=21 S, §=20

M
D
il

ol

</
&)

-

I

&r
ol

3

L

r
[
00
I[d

ot=

s 3

& 0l

ol
160
H

KJ

Kk

of =

t A2

110

010

0l 0l

[2H 2-2]= [2HM 2-1]2 Z1t

~

10

o

e

]

N
=T T

=0

O

P

o

=
=]

£ 0

. OI€ 0l

&)

[EH 2-3]2 Xt
Z MIOICt.

Z MOl Ct.

£ 20l=

ol
[==]

K0

1o

010

—
—

tOd 20l

El
ol &
T 3
< 2
Bl

(3/3)



